B FEDWKR
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58 = LT |[FLE | BUH | FLE | BCE |1k | BUE | Z1E | BUE | 815 | 85 |FREIN =3

(1928) | (1958)[(2055) [ (2056) [ (5155) | (51%) | (585%) | (585%) | (6658) [ (665%) [ (7258) | (724%)] (90%%) ] (905%)| (130%%)
HEEZES 75 25 0 0 0 0 0 0 0 0
20 5ERESR 23 15 0 0 0 0 0 0 0 0
eSS 87 14 0 0 0 0 0 0 1 0
RS GERRINEDHA) 18 4 0 0 0 0 0 0 0 0
BRESE BRTIEZED) 8 2 0 0 0 0 0 0 0 0
M EE 1
a5t 211 60 0 0 0 0 0 0 0 0 0 0 0 0 1 1
(H17.4.1~H18.3.31DKi%) _ _

58 B Ll @S| FLE | BCE | BIE | BCE | =18 | BUE | =1k | BUH & | af [EEEUR =5

(1928) | (1928)[ (2058) [ (2055) [ (5145)| (515%) ] (585%) | (585%) | (665%) [ (6658) [ (7258) | (7245)] (905%)] (90%%)| (1305%)
HEEES 902 | 175 1 0 0 6 5 0 108 0
20 FEEIRES 616 45 10 0 0 6 1 0 4 0
RIAEE 576 | 153 2 0 0 3 12 0 51 0
B EE RN EDHA) 101 17 0 0 0 2 0 0 2 0
WRESE BERTIEZESD) 28 8 0 0 0 0 0 0 0 0
MmN EE 3
a5t 2,223 | 398 13 0 0 6 0 6 0 3 0 2 18 0 165 3
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e 387 ] 185 5 0 1 4 6 0 24 0
BREE RN EDH) 35 20 0 0 1 0 2 0 2 0
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MmN EE 1
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WREEE (BRTEEZESD) 2 1 0 0 0 0 0 0 1 0
MmO ESE 0
aEt 573 115 4 0 0 5 0 1 0 5 0 o] 120 0 28 0
58

f5E B Ll &S| FLE | BCE | L | BGE | F1E | BUE | =1k | BUH & | af [EEEUR 2

(1928) | (1928)[ (2058) [ (2055) [ (5145)| (515%) | (585%) | (585%) | (6658) [ (6658) [ (7258) | (7245)] (905%)](90%%)| (1305%)
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0 5ERESR 1,180 [ 319 15 0 1 21 130 0 18 0
fRIAEE 1242 [ 371 7 0 1 12 20 0 85 0
W EE R LEDH) 192 47 0 0 1 2 2 0 4 0
WEE (BRTEZESD) 41 12 0 0 0 0 0 1 0
MmO ESE 5
S5 4203 ] 1,122 31 0 1 35 1 21 1 12 1 2] 166 0 241 5
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